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o Please check that this question paper contains 16 printed pages.

o Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

o Please check that this question paper contains 26 questions.

o Please write down the Serial Number of the question before attempting
it.

° 15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book

during this period.
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QT (3597 :
G) qYt 7o fard &1 39 J97-99 § FoT 26 T &1

(i) SAFST-TT & 5 YT & : TUS 3] TV &, GUS § TUS T 3R TUg |

Gii) @S HTY 5 J978 JAdF F 1 HF &1 TS T H 5 J97 8 U & 2 3% &1

GUEGH 12 F97 & ToOF & 3 HF &1 TUS T H 4 3F F UF JoareRa 97 & 3%
GUE T H 3G E JAH F 5 B &1

(v) ¥7-99 4 GHT T FI3 faeq 761 81 a9y, @ S# arc T §97 4, a7 7Pl aret
T# g97 § 3R gig syl aret di g § Res 997 Yo fEar 81 U) ge
7 el T T 597 H @ FaeT TH §97 & FA &

(v) STEl 3EvIFH g 3 fFEfeiiaa Yifaed Faaisl & Gl &1 3YENT H gHhd & -

c=3x108 m/s

h=6.63x10734 Js
e=1.6x10"19C
po=4mx10""Tm A~!
£,=8.854x10712 C2 N~ 1 m~2

1

=9x10° Nm?2C2
41TEO

SISl GAAM=9.1x 103! kg

92 1 TAAA=1.675x 10727 kg

JIei 1 TAAM=1.673x 10~ 27 kg

ATENTET &= 6.023 x 1023 Yfd ™ Hia

e HH Fadieh=1.38x 10723 JK 1
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General Instructions :

(1) All questions are compulsory. There are 26 questions in all.

(i1) This question paper has five sections : Section A, Section B, Section C, Section D
and Section E.

(iit) Section A contains five questions of one mark each, Section B contains five questions
of two marks each, Section C contains twelve questions of three marks each,
Section D contains one value based question of four marks and Section E contains
three questions of five marks each.

(iv) There is no overall choice. However, an internal choice has been provided in one
question of two marks, one question of three marks and all the three questions of
five marks weightage. You have to attempt only one of the choices in such questions.

(v) You may use the following values of physical constants wherever necessary :
c=3x108m/s
h=6.63x10"34 Js
e=1.6x10"19C
o= 4 X 10-"TmA~!
£,=8.854x10"12 C2 N~ 1 m~2

1 9 2 2
=9%x10 Nm“C
4 €0
Mass of electron=9.1x 103! kg
Mass of neutron=1.675x 1027 kg
Mass of proton=1.673x 1027 kg
Avogadro’s number = 6.023 X 1023 per gram mole
Boltzmann constant=1.38x 1023 JK~1
55/3/C 3 P.T.O.
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Que - A
SECTION - A

1. Ofca ok gara & 9 i e #=ii gdd 2 § 2 1

Why does sun appear red at sunrise and sunset ?

2. TOR AT & 3TE¥Ieh AgIdl & A9 faf@u | 1

Name the essential components of a communication system.

3. fodl I g &3 4 W | yfagese ueel &1 FeERr sgeea gaf 1
g g yor e g §2

In what way is the behaviour of a diamagnetic material different from that of
a paramagnetic, when kept in an external magnetic field ?

4. dF TIEY Gl & G0 A9 & o0 R dicedt 3R 9 & o9 foeru Rt U 1
T feam T ®1 U9 9 H1 emf AR AR gfaliy fohaan €2

A

6 V-

T__

\val

0 | 1AT—>
The plot of the variation of potential difference across a combination of three
identical cells in series, versus current is shown below. What is the emf and
internal resistance of each cell ?

A

6 V-

T__

\val

0 1IAI’—>
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5. TRl e | &1 fgga ool p’ & el fgya & o feog et fag A @ fggm 1
% i feoa fordt forg B a faadia a1 & fomn et @ror & & < < 2
T Ui H foman T S Ja Sife |

A charge ‘q’ is moved from a point A above a dipole of dipole moment ‘p’ to a
point B below the dipole in equatorial plane without acceleration. Find the
work done in the process.

Al

Qg -d
SECTION - B

6. SAqaqdi 1.5 % a1 o 94 fhdl fISH BAC & %o BA W &g 01 PQ 2
STfeTrIa STTIaA Sl g8 oTqafad ot &1 fsm § 39 o &1 vy amfed
Sifse | fosm & form wae 9 37 foeo ffa 3?2 ot S &1 gfe wifsm)

A

N

Q

60°
B Le
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A ray PQ incident normally on the refracting face BA is refracted in the prism
BAC made of material of refractive index 1.5. Complete the path of ray
through the prism. From which face will the ray emerge ? Justify your answer.

A

60° ]

B C

7. TEEISM T i n=2 JTEN § TR T dlcd SAFH & ¢ Ial] alesd 2
qiiehfard sifT |
Calculate the de-Broglie wavelength of the electron orbitting in the n=2 state

of hydrogen atom.

8. I gaahish i qRy fafaw | 8 = =i W@ S g7 deuy fhee & 2
JfHeRt T B 2

Define modulation index. Why is it kept low ? What is the role of a bandpass
filter ?

9. NG H TMT ATER 12V emf R 2 Q ARH GiRie & HE 9 4 Q Ifedigw 2
g Hafea § |
(a) % TRy foh fohdt aiceier &) a-at 9 o928 & fali 9 9Hifsa & aen
yfeiee & fadl ¥ a3 W 9HE UIgFiE I e ¢ |
(b) TRGY § Sreed IR 9T 7194 & faU dieeHiel &1 e qor THeR i Joft
FH " b gaifea fean s § 2
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A battery of emf 12V and internal resistance 2 () is connected to a 4 () resistor
as shown in the figure.

(a) Show that a voltmeter when placed across the cell and across the resistor,
in turn, gives the same reading.

(b) To record the voltage and the current in the circuit, why is voltmeter
placed in parallel and ammeter in series in the circuit ?

v
%,

12V 2Q

10. AT oMt i gt fafew) 2

IS TSI THTY] o Teiaed hl THY 200 T g9 o Tordl o1, 519 9 37relw
FT OO THE €, 9 gfqeenfyd Y fear S, o) oI Wi ° @ ufiedq g ?

SPEN

IR SO | Iiia TagHt W@rsli @t Tead aiTesd URefad Hifad |

[ feon ®, feent i, R=107 m~ ]
Define ionization energy.

How would the ionization energy change when electron in hydrogen atom is
replaced by a particle of mass 200 times that of the electron but having the
same charge ?

OR
Calculate the shortest wavelength of the spectral lines emitted in Balmer series.

[Given Rydberg constant, R=107 m 1]

55/3/C 7 P.T.O.
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Qug - ¥
SECTION - C

11. foHl CE-TIf<R yads & faq 2 kQ 9U@s Jfay & 0 | = e
dieedt 2 VR AM e gifset 1 o yasi= qond 100 €, 3fe enuR iy
1 kQ B @ frasht fame dicedr 3R TR amT Jd sifsw )

For a CE-transistor amplifier, the audio signal voltage across the collector
resistance of 2 k() is 2 V. Suppose the current amplification factor of the
transistor 1s 100, find the input signal voltage and base current, if the base

resistance 1s 1 kQ.

12. () Wo™ &1 fm fafen)
() Ya& R faverwsw & o9 =0 (0) & WY faverTw ¥ IRUHT FHRT
drerar (1) =1 faeror g9 & foae ume Eifa |
(i) Y- 60° F Toret WEH 1 AUSAIF fhaT B § 2

(1) State law of Malus.
(1)) Draw a graph showing the variation of intensity (I) of polarised light

transmitted by an analyser with angle (0) between polariser and analyser.

(111) What is the value of refractive index of a medium of polarising angle
60° ?

13. (1) FS MHz 9 30 MHz 3Tgfd IRER &1 &5 T7 TE01 Ha@ IR i fhy
faen =1 Suam St €7 @ g e witse TR 5| faun g et
Sl & H9R & R yeR gaifea foean Star €2
() =9 faur o ST TW arel al H ST i IUR GHET = el © 2

(1 Which mode of propagation is used by shortwave broadcast services

having frequency range from a few MHz upto 30 MHz ? Explain
diagrammatically how long distance communication can be achieved by
this mode.

(1)) Why is there an upper limit to frequency of waves used in this mode ?

55/3/C 8

Downl oaded From : http://cbseportal.conl Court esy

CBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.conl

14. <&l A vy > vy & 3 YRR GURT TET A X B & sfafaq fafewol w1 3

o & @y et favg o fo=ror &1 <o & faw e gifew |

G fog ywto § e fave stfas © o =) 2

(i) I UTH I FaUrT I9AM fRT MU uere # ypfa W AR F 82 =
RIS |

Sketch the graphs showing variation of stopping potential with frequency of
incident radiations for two photosensitive materials A and B having threshold

frequencies v, > vg.

(1) In which case is the stopping potential more and why ?

(1) Does the slope of the graph depend on the nature of the material used ?
Explain.

15. () o ot o1yl W & fordt AC &d 9 daAifsa fovan o ®, o o8 <oz 3

o &a g0 R o B yo@ &I T sied v = et 7

() S oy fRdt afkad! 3w qo1 AC Bia & @y gvit § gaAafea ® 1 afs g=h
I T Hh U hl ekl § HIS Ale DI B 991 & WY, I oFT 1 aH
1 FI1 TN 7 STEAT HifoT |

L Rt
I oo To R V)

(1) When an AC source is connected to an ideal inductor show that the
average power supplied by the source over a complete cycle is zero.

(1) A lamp is connected in series with an inductor and an AC source. What
happens to the brightness of the lamp when the key is plugged in and

an iron rod is inserted inside the inductor ? Explain.
L

mlamp

16. () STRE &l HeEa 4 &t pn Wi # gl & IR Aty fave fosfaa €9 3

i AT T |
(i) ot W Tt 1 TRuy Wieex sq9&! e fafy =1 =men sifs |

(1) Explain with the help of a diagram the formation of depletion region and

barrier potential in a pn junction.
(1)) Draw the circuit diagram of a half wave rectifier and explain its working.
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17.

18.

() T ORI WFRH h I AN Hl TG
(a) S AN 9 § ©R Yel & fou SugEd g B
(b) I I & AT gNI fRE o1 F A& W IHAR GRI 3cu=l Siell & |
() fHdr Garfs =1 emafim sryer oMEfya wid 99a feammiex aifors fagm
1 <ofar 2 39 Y&I0T ol AR & U efevgs e fafau

(1) Identify the part of the electromagnetic spectrum which is :

(a) suitable for radar system used in aircraft navigation,

(b) produced by bombarding a metal target by high speed electrons.
(1) Why does a galvanometer show a momentary deflection at the time of

charging or discharging a capacitor ? Write the necessary expression to

explain this observation.

TEMW 158 &1 qRYTET iR B fagma fafaw|

fordt Tdel I ©F W Afad FHAE a0 R faer sitvw ) frta a@m @@t
3T <A T I8 WA o a0 T 3@ Wifay foe a8 afad am feg
YHR AF H T HIa1 § IR 3T & U9 ofd F Wwhd foag W wiwfad @
ST 8 2

AT

FRU T4 gC Fefafea &1 =men s

() 16 THAUN YT S HEAH hl JUh L el Tl I538 T YA ol <,
@ Wafda $iR Tuafda SH € ghrl @1 STefd SArafad Jehrel i sTgha &
ERERE R

(i) 9 g foret foret oregm @ for) wom mream | A R €, < IR i
I1e B S 8 | R A § A 1 I8 oA © R T g 9% &t S ot
Sl o T €2

(iii) TWT o a1 T | Yehtel i diaal a1 & W & ol g1 H4iia &l
B U & HeE famo § e eF fHuiia s 82

Define the term wave front. State Huygen’s principle.

Consider a plane wave front incident on a thin convex lens. Draw a proper
diagram to show how the incident wave front traverses through the lens and
after refraction focusses on the focal point of the lens, giving the shape of the
emergent wave front.
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OR

Explain the following, giving reasons :

(1) When monochromatic light is incident on a surface separating two media,
the reflected and refracted light both have the same frequency as the
incident frequency.

(11) When light travels from a rarer to a denser medium, the speed decreases.
Does this decrease in speed imply a reduction in the energy carried by
the wave ?

(111) In the wave picture of light, intensity of light is determined by the square
of the amplitude of the wave. What determines the intensity in the
photon picture of light ?

o N o

19. (a) fordll earufoea Tifvyer g p+ Icosia § Aftafad Tt g gfshan &1 3

Jdisicds ®9 § fafau |
(b) = < TR srfufEaeT |

@ cm- JBHX 4+
) '2C+'2C m - %)Ne+ He

x,y,ﬁzﬂ%a,bﬁ?c?qﬂaﬁwra'll

(a) Write the basic nuclear process involved in the emission of B* in a
symbolic form, by a radioactive nucleus.
(b) In the reactions given below :

. 11 z

@) 6C - yB+x +v

.. 12 12 20 c
(11) 6C+ GC - aNe+bHe

Find the values of x, ¥, and z and a, b and c.

20. SR-EEE oW 1 ST Fh R 5o & qEmE a1y W grey &5 3

% foru =iote Feael *ifeg | et gaeR aR, fSed 9w 1 veifed & W e, &
RO IR & T@T ST |

Use Biot-Savart law to derive the expression for the magnetic field on the axis

of a current carrying circular loop of radius R.
Draw the magnetic field lines due to a circular wire carrying current I.
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21.

22.

23.

() HHK TARM % AR A & faC =Sh =l HIfST |

() fodr afae =Terer § soiagl 1 3T9aTE o a9 ¥ gig & WY e g&R
afafda g 82 =amen wifs

(1) Derive an expression for drift velocity of free electrons.

(1)) How does drift velocity of electrons in a metallic conductor vary with
increase in temperature ? Explain.

gafave g3 it aRwren fafgu) wafavya g & i@ Eifau -

() Tha fog omaw, qu

() z-feen ¥ faa fogqa & & goeon & fou gufave g Eifaw) ted
AN F URd: FHMGTT T8 THEY F Tl 2

(iii) N fRd gHfaYE T8 & TOei WET &g faga & B 9hdl § 2 SR S |

Define an equipotential surface. Draw equipotential surfaces :

(1) 1in the case of a single point charge and
(1) 1in a constant electric field in Z-direction.
Why the equipotential surfaces about a single charge are not
equidistant ?
(111) Can electric field exist tangential to an equipotential surface ? Give
reason.
Qug - g
SECTION -D

T T T % e & T Thad § Fall X 61 O 1 3Tk 91 St A W TH

TTsfohel SUBR H <F fT9H SEEHI oW 911 98 39 TEfhal sl T 7= Idfsld

oq1| UK & FHY WEfhd TAd THI T8 dod A Teh hl T&3l Sl <@
Tohdl o1 W) 3§ 39 gfod i Tshafafy &1 9= T80 a1l 394 39 IR H 30
free WRIcT ¥ 11 e "EIGT A T8 SHWHI & fRaATafy S §EEd wa @l
YA 1 Th 3T=S1 STER /A

i< feu 7T geAi w1 W Y

(2) TIAEl &t TRafaty &1 fagra fafaw)

(b) T AR Uk et HEIGd §RI S MY T & TI-<1 el hl Seeid

HITST |
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Ram is a student of class X in a village school. His uncle gifted him a bicycle
with a dynamo fitted in it. He was very excited to get it. While cycling during
night, he could light the bulb and see the objects on the road. He, however,
did not know how this device works. He asked this question to his teacher.
The teacher considered it an opportunity to explain the working to the whole
class.

Answer the following questions :
(a) State the principle and working of a dynamo.

(b) Write two values each displayed by Ram and his school teacher.

Qug -9
SECTION - E

24. () TR & FHH F1 ITAN Flh THTAHM ACENE < THdA I & ROl 5

oI & 91 I | TS 3R FUMcHe AT el o fae &= i faum
F1 BT T2
(i) < FEME €, 3R C,, Tkt =niamsti =1 /U 1: 28, % 400 iR awe
A W ATIIH AR 1 98 ST J1d Hiere fordeh gRI ST Fhol
T gfad et 99 2
3YAT

G A Tum a2t ufgwT, s S%a A T IS A% ¥ +0 3R —o

T, 9g U TR TR ¥ d W W E, @ F=fafaa & fau =se g sifse

(a) Ufgwell & o= & Topdll fag W qen dfgerredi 9 e fordll fag W
foga &1 g% Yol H &5 & fown w1 av off i)

(b) Ufghl & e faqamr

(© 39 YHR ffHa Suia &i o1fiar Jd it |

() R R 2R ==msti & T o1 el &1 39 YR Q@@ fFa w0 €, i el
H1 I A TG o g | AfG IHT ! fhdl =T aR 9 Faitoa & fean
Se, 1 e fhe fown # yenfed g SR =i 2
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(1) Use Gauss’s law to find the electric field due to a uniformly charged
infinite plane sheet. What is the direction of field for positive and
negative charge densities ?

(11) Find the ratio of the potential differences that must be applied across the
parallel and series combination of two capacitors C; and C, with their
capacitances in the ratio 1 : 2 so that the energy stored in the two cases
becomes the same.

OR

(1) Iftwo similar large plates, each of area A having surface charge densities
+o0 and —o are separated by a distance d in air, find the expressions for
(a) field at points between the two plates and on outer side of the plates.

Specify the direction of the field in each case.
(b) the potential difference between the plates.
(c) the capacitance of the capacitor so formed.

(1) Two metallic spheres of radii R and 2R are charged so that both of these
have same surface charge density o. If they are connected to each other
with a conducting wire, in which direction will the charge flow and why ?

25. () STUERN JARER 61 AHifhd NG Wiay | 39! fohen fafy & faga &1 5

3@ hIfT |

(i) Scedisi ol HU-3TIUd | =HeK it |

(i) ot strest gigwRrdR & fore ha-o1u & 9l § wafhe iR fgdtos amed
%1 ITIU 1A hiTST |

(v) 220V gfd | forelt Ziawi =6t qrafher Fuee g/ 39 99 fRdt gm
St W §, ST I8 110 V—550 W & TR TEIeReR b1 i YSH il © 2

3UAT

@) TH R & fiehe feord 1 HioHaEl & =01 Wehed | 1 A9 © 7 39eh
AT ST | v, T 1y (v < 1) ST 1 S Tkl FarwR Foefedi W
foam wifsT s gwney feerg € qon fSer s Gurdl €1 39 geke & fau
AT Wehed o [OTT Feleh YT hifld |

(b) RS A 3R Tl &I & N hl B AFAHR FUSEA! fhdll THHHAM FHh1
&7 B, Sl ISl o ATITEd &, § £’ TR FTd YhUS § FUM AT STl
g1 78 fog #ifST fo Foeet & IRa fasdd emf &1 WH 2 «f NBA ®1
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(1) Draw a labelled diagram of a step-down transformer. State the principle
of its working.

(1)) Express the turn ratio in terms of voltages.

(ii1) Find the ratio of primary and secondary currents in terms of turn ratio
in an ideal transformer.

(iv) How much current is drawn by the primary of a transformer connected
to 220 V supply when it delivers power to a 110 V—550 W refrigerator ?

OR

(a) Explain the meaning of the term mutual inductance. Consider two
concentric circular coils, one of radius r; and the other of radius r,
(r; <r,) placed coaxially with centres coinciding with each other. Obtain
the expression for the mutual inductance of the arrangement.

(b) A rectangular coil of area A, having number of turns N is rotated at ‘ f’
revolutions per second in a uniform magnetic field B, the field being

perpendicular to the coil. Prove that the maximum emf induced in the
coil is 2 wf NBA.

26. (i) U AT T8 W YA o [T n, T n, o STedi 991 R =shal a1 5
o e I3 o ste gy o Tl 3 Scd=l HifS | I8 HHd ge foh foe
fagferd T 3R n, dvadTi® & foa merg ¥ @7 a9y W feom © am
aTEifareh gfdferal n, STqadHIh & oA HILIH § o1 8, 0H AR G e
HITSTT |

(i) arg ¥ feor fret fogfora fomar @ WahT¥1 20 cm Fohal o= 3R 1.5 SUadIh

Y N

o el 3T T o W SAUaT Fa1 &1 Hid & IS § YhE @G hi

T 100 cm © 1 Ffafara &t fearfa 3@ wifew )
areram

(a) I HEESH § fedt @ella gievie g ardfas gfdfersl g s &
fou miferd fortor oM Wifaw | st adH amar &1 gt fafe)
(b) IR 0.5 D, 4 D 3R 10 D & I A9 ¥l oM & ferg few mw ¥
() T ¥ foa o9l &1 ST Afagyasd IR AT & fow foan s
TMEL? 3T IW ! Ifie & fag &R T
(i) STfIgvas & foU 92 gRe% &1 Wifashar Fi <t Wl § 2
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(i) Derive the mathematical relation between refractive indices n; and n,
of two radii and radius of curvature R for refraction at a convex spherical
surface. Consider the object to be a point since lying on the principle axis
in rarer medium of refractive index n; and a real image formed in the
denser medium of refractive index n,. Hence, derive lens maker’s formula.

(1)) Light from a point source in air falls on a convex spherical glass surface
of refractive index 1.5 and radius of curvature 20 cm. The distance of
light source from the glass surface is 100 cm. At what position is the
image formed ?

OR

(a) Draw a labelled ray diagram to obtain the real image formed by an
astronomical telescope in normal adjustment position. Define its
magnifying power.

(b) You are given three lenses of power 0.5 D, 4 D and 10 D to design a
telescope.

(1) Which lenses should he used as objective and eyepiece ? Justify
your answer.

(1) Why is the aperture of the objective preferred to be large ?
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